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Que: 1 Write correct answer for each of the following MCQs. [10]

1 The number of independent node pair voltage equations required to solve
the network is given by . )

a) n=b-(j+1) b} n=j-1
c) n=h-(j-1) d n=j+1
2 in a network, the point wherein two or more components are connected, is
known as
a) junction b) node
¢) branch d) mesh

3 The reciprocal of the resistance is called

a) conductance b} reluctance
¢) impedance d) reactance
4  Scherring bridge is used to find unknown .

a) capacitance b} reactance

¢} resistance d) frequency
5 ___isgenerally used as the null detector in DC bridge.
a} Microphone b) Spherometer
c) Headphone d) Galvanometer
6 The Rayleigh’s refractometer works on the principle of division of
a) frequency b) wavelength
¢) wavefront d} amplitude
7  The equation for resolving power of a microscopeis __
1224 - du
a) 2sina b) t Zi_;{
(14
<) 1224 , @) N
8 The resolving power (R.P.) of a grating dependson ____
a) no. of lines drawn on grating b) wavelength of the incident
surface light
¢} thickness of the grating d} the angle of incident light

‘ make with the grating surface
9 The Einstein’s coefficient for spontaneous emission is

a) A b} Axn
c) Bi d) Bn
10  Which of the followings is the application of LASER in the fieid of Medical
science?
a) hole drilling b) cutting
c) welding ' d} for treating glaucoma
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Fill in the blanks and True or False type questions. [08)
Any type of closed path of a network is knownas
Any arrangement of active and /or passive elements which form closed path is known as
junction. fTrue / False]
The Wheatsione bridge is used to measure unknown
The Wien bridge is used to measure unknown capacitance. [True / False]
To observe the phenomenon of interference, any two sources are required.
[True / False]
The criterion of resolution of an optical instrument was given by
The LASER is an incoherent source. [True / False] ‘
The full form of LASERis .

Write answers of any ten questions in brief, [240]
Differentiate hetween branch and tree,

State voltage divider theorem with suitable circuit.

State Norton's theorem,

State the balancing conditions for the AC bridge.

Enlist the sources of error in Wheatstone bridge measurements.

Draw the labelled circuit diagram of Wien bridge.

Draw the labelled diagram of Jamin’s interferometer.

Explain the use of compensating plates in Rayleigh's refractometer,

Explain the use of Michelson’s interferometer to determine the wavelength of
the incident light.

10 Enlist various methods of pumping.

11 Enlist the properties of LASER.

12 State any four applications of LASER.

W 0~ 3 o W N ke

Write answer of any four in detail. 132}
1 Explain network analysis by two mesh current method with proper circuit
diagram.

2 Discuss Thevenin’s theorem using suitable network.

3 Whatis an AC bridge circuit? Explain Maxwell’s bridge with suitable diagram.
Also state its limitation.

4 Explain Kelvin bridge circuit with necessary diagram.
5 Discuss the principle, construction, working of Michelson interferometer.

Define resolution and resolving power of an optical instrument. With suitable
ray diagram, obtain the equation for resolving power {R.P.) of a telescope.

With necessary diagram, explain ND:YAG LASER.
8 Whatis a Hologram? With neat diagram explain the recording of hologram.
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a) n=b-{j+1) b) n=j-1
c) n=b-{j-1) d) n=j+1
2 el 5 B wdl 5L siad sl auR 425l sgn Gl d Blgd _ ssai 8,
a) a5 b) «lig
c) “ld d} Ha
3 %l w2l aad 8,
a) §852cd by <letsz-y
¢) dnildy d) dwiseu
4 Fforolley  diMALHE qud 6,
a) Fudlz-u b) Uvise
c) 2laRIM d) gl
5 JLal [Gisyi de Bsar afls i Eld_ dupa e,
a) HIOsl5iH by wgAHler
c) $35i- d) dieddialze
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a) »uald b) det dois
) L d} su [GRdwr
7 widsizsiudl Aeled alddya 9.
1.22 4 du
a) Zsina b) t —d—ﬁ
C) 1.22 A d) "N
8 dZlodl [l aldd __ ur R AL 9. :
a) Aeloidl wuidl vz eizdl aidl b) wiluld adl eidedl dd detid
Aoy
c) A2l as1e d) dA2lordl 2wl i odeledl
, ' BUMLASEL
9 2q%u 2503 Geusk (spontaneous emission) HIZ wiLSz2lHsl uuRls _ 8.
a) An b) An
c} Bu d] Bn
10 -l Guaiol ddlsa [Astqnl _ Hia s,
a) e Jeflor b} sléa
¢} dedla d)  HilAsil auea
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